INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, IT & MANAGEMENT



A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories

Index Copernicus Publishers Panel, Polandwith IC Value of 5.09 & number of libraries all around the world.

Circulated all over the world & Google has verified that scholars of more than 2477 Cities in 159 countries/territories are visiting our journal on regular basis.

Ground Floor, Building No. 1041-C-1, Devi Bhawan Bazar, JAGADHRI – 135 003, Yamunanagar, Haryana, INDIA

CONTENTS

Sr.	TITLE & NAME OF THE AUTHOR (S)	Page
No. 1.	PERFORMANCE EFFICIENCY OF AGRICULTURAL MARKET COMMITTEES (AMCS) IN INDIA – DATA ENVELOPMENT ANALYSIS (DEA) APPROACH	No.
1.	E. S. V. NARAYANA RAO, A. A. CHARI & K. NIRMAL RAVI KUMAR	_
2.	A STUDY ON COMPETITIVE INDIAN BANKING INDUSTRY WITH REFERENCE TO PRE E-BANKING AND POST E-BANKING SRI HARI.V, SUNIL RASHINKAR, DR. B. G SATYA PRASAD, DR. SREENIVAS.D.L & AJATASHATRUSAMAL	6
3.	ONLINE SERVICE QUALITY AND CUSTOMER SATISFACTION – A STUDY IN INTERNET BANKING	10
J .	J. NANCY SEBASTINA & DR. N. YESODHA DEVI	
4.	AN EMPIRICAL STUDY ON THE EFFECTS OF COMPUTER OPERATING HOURS ON STUDENT STRESS LEVEL USING TOPSIS METHOD DR. RAVICHANDRAN. K, DR. MURUGANANDHAM. R & VENKATESH.K	15
5.	IMPLICATION OF INNOVATION AND AESTHETICS FOR BUSINESS GROWTH AMONG SMALL AND MEDIUM SCALE ENTERPRISES (SMEs): THE CASE STUDY OF BONWIRE KENTE WEAVING INDUSTRY DR. GORDON TERKPEH SABUTEY, DR. J. ADU-AGYEM & JOHN BOATENG	27
6.	A COMPARATIVE STUDY OF ONLINE OFF-CAMPUS COUNSELING FOR ADMISSION TO ENGINEERING INSTITUTIONS IN INDIA VIJAY BHURIA & R. K. DIXIT	40
7.	CUSTOMER SATISFACTION TOWARDS THE CHARGES AND SERVICES OF THIRD PARTY LOGISTICS SERVICES FOR INTERNATIONAL TRADE - AN EMPIRICAL STUDY P. NALINI & DR. D. MURUGANANDAM	44
8.	GROWTH AND DEVELOPMENT OF MSME IN NORTH-EAST INDIA CHIKHOSALE THINGO & SUBHRANGSHU SEKHAR SARKAR	49
9.	GREEN MARKETING: HABITUAL BEHAVIOUR OF HOUSEHOLDS WITH SPECIAL REFERENCE TO KAKINADA, EAST GODAVARI DISTRICT, ANDHRA PRADESH DR. V. V. RATNAJI RAO CHOWDARY & R. SREENIVASA RAO	54
10.	A GENERALIZED CLASS OF PREDICTIVE ESTIMATORS OF FINITE POPULATION MEAN IN SAMPLE SURVEYS MANJULA DAS	60
11.	FINANCIAL LEVERAGE AND CAPITAL STRUCTURE PLANNING IN SMALL-SCALE INDUSTRIES DR. VINOD KUMAR YADAV	64
12.	IMPACT OF SERVICE QUALITY ON SATISFACTION AND LOYALTY: CASE OF SINJAY RESTAURANT PRIBANUS WANTARA	69
13.	E – COMMERCE RISK ANALYSIS USING FUZZY LOGIC S. R. BALAJI, R. DEEPA & A. VIJAY VASANTH	74
14.	A SECTORWISE ANALYSIS OF NON PERFORMING ASSET IN STATE BANK OF TRAVANCORE	82
15.	DEVI PREMNATH, BALACHANDRAN .S & GEETHU JAMES SOFTWARE DEFECT PREDICTION USING REGRESSION STRATEGY R. DEEPA & A. VIJAY VASANTH	88
16.	SUGGESTED MODEL FOR XBRL ADOPTION	93
17.	AWNI RAWASHDEH PURCHASE PERIOD WITH REFERENCE TO CONSUMERS' OF HOUSEHOLD COMPUTERS OF VELLORE DISTRICT IN INDIA DR. D. MARIJA ANTONY RAJ	97
18.	DR. D.MARIA ANTONY RAJ PRIMARY EDUCATION IN INDIA DR. T. INDRA	101
19.	DEVELOPMENT OF AN ORGANIZATIONAL CAPABILITY PROFILE FOR SMALL BUSINESS FIRMS IN JAMMU AND KASHMIR	104
20.	AASIM MIR LIQUIDITY RISKS MANAGEMENT PRACTICES BY COMMERCIAL BANKS IN BANGLADESH: AN EMPIRICAL STUDY ABUNDAN DAS GUADAN KANTE DICHAGE & ACCURACION DEN	107
21.	ARJUN KUMAR DAS, SUJAN KANTI BISWAS & MOURI DEY AN ANALYSIS OF COST OF PRODUCTION OF BANANA AND PROFITABILITY AT NARSINGDI AND GAZIPUR DISTRICT IN BANGLADESH	113
22.		119
23.	MARYAM FIROUZI & DR. MOHAMMAD REZA ASGARI MANAGING CURRICULUM CHANGE IMPLEMENTATION IN GHANA: DOES GENDER MAKE A DIFFERENCE IN TEACHER CONCERNS?	125
24.	COSMAS COBBOLD OVERCOMING THE PERCEIVED BARRIERS OF E-COMMERCE TO SMALL AND MEDIUM SCALE ENTERPRISES IN GHANA — A PROPOSED MODEL	129
25.	AMANKWA, ERIC & KEVOR MARK-OLIVER ORIGINAL EQUIPMENT MANUFACTURING IN ETHIOP	138
26.	M. NARASIMHA, R. REJIKUMAR, K. SRIDHAR- & ACHAMYELEH AEMRO KASSIE AN ANALYSIS OF COST OF PRODUCTION OF GROUNDNUT AND PROFITABILITY AT MANIKGONJ DISTRICT IN BANGLADESH	144
	ABU ZAFAR AHMED MUKUL, FAZLUL HOQUE & MD. MUHIBBUR RAHMAN LEVEL OF JOB SATISFACTION OF GARMENTS WORKER: A CASE STUDY ON SAVAR AREA IN DHAKA DISTRICT	151
	MOSSAMAD MAHAMUDA PARVIN, FAZLUL HOQUE, MD. MUHIBBUR RAHMAN & MD. AL-AMIN INDIRECT TAX SYSTEM IN INDIA	
	C. AZHAKARRAJA.	159
	BOARD MECHANISMS AND PROFITABILITY OF COMMERCIAL BANKS IN KENYA MUGANDA MUNIR MANINI & UMULKHER ALI ABDILLAHI	162
30.	FOOD SECURITY AND PUBLIC DISTRIBUTION SYSTEM IN INDIA: AN ANALYSIS HARSIMRAN SINGH & JAGDEV SINGH	170
	REQUEST FOR FEEDBACK	174

CHIEF PATRON

PROF. K. K. AGGARWAL

Chancellor, Lingaya's University, Delhi Founder Vice-Chancellor, Guru Gobind Singh Indraprastha University, Delhi Ex. Pro Vice-Chancellor, Guru Jambheshwar University, Hisar

FOUNDER PATRON

LATE SH. RAM BHAJAN AGGARWAL

Former State Minister for Home & Tourism, Government of Haryana Former Vice-President, Dadri Education Society, Charkhi Dadri Former President, Chinar Syntex Ltd. (Textile Mills), Bhiwani

CO-ORDINATOR

AMITA

Faculty, Government M. S., Mohali

ADVISORS

DR. PRIYA RANJAN TRIVEDI

Chancellor, The Global Open University, Nagaland

PROF. M. S. SENAM RAJU

Director A. C. D., School of Management Studies, I.G.N.O.U., New Delhi

PROF. M. N. SHARMA

Chairman, M.B.A., Haryana College of Technology & Management, Kaithal

PROF. S. L. MAHANDRU

Principal (Retd.), Maharaja Agrasen College, Jagadhri

EDITOR

PROF. R. K. SHARMA

Professor, Bharti Vidyapeeth University Institute of Management & Research, New Delhi

CO-EDITOR

Faculty, Shree Ram Institute of Business & Management, Urjani

EDITORIAL ADVISORY BOARD

DR. RAJESH MODI

Faculty, Yanbu Industrial College, Kingdom of Saudi Arabia

PROF. SANJIV MITTAL

University School of Management Studies, Guru Gobind Singh I. P. University, Delhi

PROF. ANIL K. SAINI

Chairperson (CRC), Guru Gobind Singh I. P. University, Delhi

DR. SAMBHAVNA

Faculty, I.I.T.M., Delhi

DR. MOHENDER KUMAR GUPTA

Associate Professor, P. J. L. N. Government College, Faridabad

DR. SHIVAKUMAR DEENE

Asst. Professor, Dept. of Commerce, School of Business Studies, Central University of Karnataka, Gulbarga

ASSOCIATE EDITORS

PROF. NAWAB ALI KHAN

Department of Commerce, Aligarh Muslim University, Aligarh, U.P.

PROF. ABHAY BANSAL

Head, Department of Information Technology, Amity School of Engineering & Technology, Amity University, Noida

PROF. A. SURYANARAYANA

Department of Business Management, Osmania University, Hyderabad

DR. SAMBHAV GARG

Faculty, Shree Ram Institute of Business & Management, Urjani

PROF. V. SELVAM

SSL, VIT University, Vellore

DR. PARDEEP AHLAWAT

Associate Professor, Institute of Management Studies & Research, Maharshi Dayanand University, Rohtak

DR. S. TABASSUM SULTANA

Associate Professor, Department of Business Management, Matrusri Institute of P.G. Studies, Hyderabad

SURJEET SINGH

Asst. Professor, Department of Computer Science, G. M. N. (P.G.) College, Ambala Cantt.

TECHNICAL ADVISOR

AMITA

Faculty, Government M. S., Mohali

FINANCIAL ADVISORS

DICKIN GOYAL

Advocate & Tax Adviser, Panchkula

NEENA

Investment Consultant, Chambaghat, Solan, Himachal Pradesh

LEGAL ADVISORS

JITENDER S. CHAHAL

Advocate, Punjab & Haryana High Court, Chandigarh U.T.

CHANDER BHUSHAN SHARMA

Advocate & Consultant, District Courts, Yamunanagar at Jagadhri

SUPERINTENDENT

SURENDER KUMAR POONIA

3.

CALL FOR MANUSCRIPTS

Weinvite unpublished novel, original, empirical and high quality research work pertaining to recent developments & practices in the area of Computer, Business, Finance, Marketing, Human Resource Management, General Management, Banking, Education, Insurance, Corporate Governance and emerging paradigms in allied subjects like Accounting Education; Accounting Information Systems; Accounting Theory & Practice; Auditing; Behavioral Accounting; Behavioral Economics; Corporate Finance; Cost Accounting; Econometrics; Economic Development; Economic History; Financial Institutions & Markets; Financial Services; Fiscal Policy; Government & Non Profit Accounting; Industrial Organization; International Economics & Trade; International Finance; Macro Economics; Micro Economics; Monetary Policy; Portfolio & Security Analysis; Public Policy Economics; Real Estate; Regional Economics; Tax Accounting; Advertising & Promotion Management; Business Education; Management Information Systems (MIS); Business Law, Public Responsibility & Ethics; Communication; Direct Marketing; E-Commerce; Global Business; Health Care Administration; Labor Relations & Human Resource Management; Marketing Research; Marketing Theory & Applications; Non-Profit Organizations; Office Administration/Management; Operations Research/Statistics; Organizational Behavior & Theory; Organizational Development; Production/Operations; Public Administration; Purchasing/Materials Management; Retailing; Sales/Selling; Services; Small Business Entrepreneurship; Strategic Management Policy; Technology/Innovation; Tourism, Hospitality & Leisure; Transportation/Physical Distribution; Algorithms; Artificial Intelligence; Compilers & Translation; Computer Aided Design (CAD); Computer Aided Manufacturing; Computer Graphics; Computer Organization & Architecture; Database Structures & Systems; Digital Logic; Discrete Structures; Internet; Management Information Systems; Modeling & Simulation; Multimedia; Neural Systems/Neural Networks; Numerical Analysis/Scientific Computing; Object Oriented Programming; Operating Systems; Programming Languages; Robotics; Symbolic & Formal Logic and Web Design. The above mentioned tracks are only indicative, and not exhaustive.

Anybody can submit the soft copy of his/her manuscript anytime in M.S. Word format after preparing the same as per our submission guidelines duly available on our website under the heading guidelines for submission, at the email address: infoijrcm@gmail.com.

GUIDELINES FOR SUBMISSION OF MANUSCRIPT

CO	VERING LETTER FOR SUBMISSION:
ТН	DATED:E EDITOR
IJR	CM
Sul	oject: <u>SUBMISSION OF MANUSCRIPT IN THE AREA OF</u> .
(<u>e</u>	g. Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/Engineering/Mathematics/other, please specify)
DE	AR SIR/MADAM
Ple	ase find my submission of manuscript entitled '' for possible publication in your journals.
	ereby affirm that the contents of this manuscript are original. Furthermore, it has neither been published elsewhere in any language fully or partly, nor is it der review for publication elsewhere.
I af	firm that all the author (s) have seen and agreed to the submitted version of the manuscript and their inclusion of name (s) as co-author (s).
	o, if my/our manuscript is accepted, I/We agree to comply with the formalities as given on the website of the journal & you are free to publish our attribution in any of your journals.
NΑ	ME OF CORRESPONDING AUTHOR:
	signation:
Aff	iliation with full address, contact numbers & Pin Code:
Re	sidential address with Pin Code:
Mo	bile Number (s):
	ndline Number (s):
	nail Address:
Alt	ernate E-mail Address:
NC	TES:
a)	The whole manuscript is required to be in ONE MS WORD FILE only (pdf. version is liable to be rejected without any consideration), which will start from
	the covering letter, inside the manuscript.
b)	The sender is required to mentionthe following in the SUBJECT COLUMN of the mail:
	New Manuscript for Review in the area of (Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/
	Engineering/Mathematics/other, please specify)
c)	There is no need to give any text in the body of mail, except the cases where the author wishes to give any specific message w.r.t. to the manuscript.
d)	The total size of the file containing the manuscript is required to be below 500 KB .
e)	Abstract alone will not be considered for review, and the author is required to submit the complete manuscript in the first instance.
f)	The journal gives acknowledgement w.r.t. the receipt of every email and in case of non-receipt of acknowledgment from the journal, w.r.t. the submission

MANUSCRIPT TITLE: The title of the paper should be in a 12 point Calibri Font. It should be bold typed, centered and fully capitalised.

address should be in italic & 11-point Calibri Font. It must be centered underneath the title.

results & conclusion in a single para. Abbreviations must be mentioned in full.

of manuscript, within two days of submission, the corresponding author is required to demand for the same by sending separate mail to the journal.

AUTHOR NAME (S) & AFFILIATIONS: The author (s) full name, designation, affiliation (s), address, mobile/landline numbers, and email/alternate email

ABSTRACT: Abstract should be in fully italicized text, not exceeding 250 words. The abstract must be informative and explain the background, aims, methods,

- 5. **KEYWORDS**: Abstract must be followed by a list of keywords, subject to the maximum of five. These should be arranged in alphabetic order separated by commas and full stops at the end.
- 6. MANUSCRIPT: Manuscript must be in <u>BRITISH ENGLISH</u> prepared on a standard A4 size <u>PORTRAIT SETTING PAPER</u>. It must be prepared on a single space and single column with 1" margin set for top, bottom, left and right. It should be typed in 8 point Calibri Font with page numbers at the bottom and centre of every page. It should be free from grammatical, spelling and punctuation errors and must be thoroughly edited.
- 7. **HEADINGS**: All the headings should be in a 10 point Calibri Font. These must be bold-faced, aligned left and fully capitalised. Leave a blank line before each heading.
- 8. **SUB-HEADINGS**: All the sub-headings should be in a 8 point Calibri Font. These must be bold-faced, aligned left and fully capitalised.
- 9. MAIN TEXT: The main text should follow the following sequence:

INTRODUCTION

REVIEW OF LITERATURE

NEED/IMPORTANCE OF THE STUDY

STATEMENT OF THE PROBLEM

OBJECTIVES

HYPOTHESES

RESEARCH METHODOLOGY

RESULTS & DISCUSSION

FINDINGS

RECOMMENDATIONS/SUGGESTIONS

CONCLUSIONS

SCOPE FOR FURTHER RESEARCH

ACKNOWLEDGMENTS

REFERENCES

APPENDIX/ANNEXURE

It should be in a 8 point Calibri Font, single spaced and justified. The manuscript should preferably not exceed 5000 WORDS.

- 10. **FIGURES &TABLES**: These should be simple, crystal clear, centered, separately numbered & self explained, and **titles must be above the table/figure**. Sources of data should be mentioned below the table/figure. It should be ensured that the tables/figures are referred to from the main text.
- 11. **EQUATIONS**: These should be consecutively numbered in parentheses, horizontally centered with equation number placed at the right.
- 12. **REFERENCES**: The list of all references should be alphabetically arranged. The author (s) should mention only the actually utilised references in the preparation of manuscript and they are supposed to follow **Harvard Style of Referencing**. The author (s) are supposed to follow the references as per the following:
- All works cited in the text (including sources for tables and figures) should be listed alphabetically.
- Use (ed.) for one editor, and (ed.s) for multiple editors.
- When listing two or more works by one author, use --- (20xx), such as after Kohl (1997), use --- (2001), etc, in chronologically ascending order.
- Indicate (opening and closing) page numbers for articles in journals and for chapters in books.
- The title of books and journals should be in italics. Double quotation marks are used for titles of journal articles, book chapters, dissertations, reports, working
 papers, unpublished material, etc.
- For titles in a language other than English, provide an English translation in parentheses.
- The location of endnotes within the text should be indicated by superscript numbers.

PLEASE USE THE FOLLOWING FOR STYLE AND PUNCTUATION IN REFERENCES:

BOOKS

- Bowersox, Donald J., Closs, David J., (1996), "Logistical Management." Tata McGraw, Hill, New Delhi.
- Hunker, H.L. and A.J. Wright (1963), "Factors of Industrial Location in Ohio" Ohio State University, Nigeria.

CONTRIBUTIONS TO BOOKS

Sharma T., Kwatra, G. (2008) Effectiveness of Social Advertising: A Study of Selected Campaigns, Corporate Social Responsibility, Edited by David Crowther & Nicholas Capaldi, Ashgate Research Companion to Corporate Social Responsibility, Chapter 15, pp 287-303.

JOURNAL AND OTHER ARTICLES

Schemenner, R.W., Huber, J.C. and Cook, R.L. (1987), "Geographic Differences and the Location of New Manufacturing Facilities," Journal of Urban Economics, Vol. 21, No. 1, pp. 83-104.

CONFERENCE PAPERS

• Garg, Sambhav (2011): "Business Ethics" Paper presented at the Annual International Conference for the All India Management Association, New Delhi, India, 19–22 June.

UNPUBLISHED DISSERTATIONS AND THESES

Kumar S. (2011): "Customer Value: A Comparative Study of Rural and Urban Customers," Thesis, Kurukshetra University, Kurukshetra.

ONLINE RESOURCES

Always indicate the date that the source was accessed, as online resources are frequently updated or removed.

WEBSITES

• Garg, Bhavet (2011): Towards a New Natural Gas Policy, Political Weekly, Viewed on January 01, 2012 http://epw.in/user/viewabstract.jsp

PERFORMANCE EFFICIENCY OF AGRICULTURAL MARKET COMMITTEES (AMCS) IN INDIA – DATA ENVELOPMENT ANALYSIS (DEA) APPROACH

E. S. V. NARAYANA RAO
ASST. PROFESSOR & HEAD
DEPARTMENT OF STATISTICS & COMPUTER APPLICATIONS
AGRICULTURAL COLLEGE
MAHANANDI

A. A. CHARI
DEAN
PHYSICAL & LIFE SCIENCES
RAYALASEEMA UNIVERSITY
KURNOOL

K. NIRMAL RAVI KUMAR
ASSOCIATE PROFESSOR & HEAD
DEPARTMENT OF AGRICULTURAL ECONOMICS
AGRICULTURAL COLLEGE
MAHANANDI

ABSTRACT

Efficient performance of Agricultural Market Committees (AMCs) is considered to be the sine quo non for the economic development of an agrarian country like India. Though the number of AMCs has been sturdily increasing in India, still the farmers are being exploited by one form or another in transacting the agricultural commodities. In view of this, several apprehensions and concerns were raised fearing about the performance of AMCs in discharging the regulatory provisions for efficient transaction of agricultural commodities. Various enactments have been formulated by Government from time to time to revamp the agricultural marketing system in the country and presently, Model act 2005 (The State Agricultural Produce Marketing (Development and Regulation) Act, 2005) has been under implementation. In this context of exploring the agricultural marketing system with a farmer's ended approach, the present study aims at analyzing the performance efficiency ao AMCs in Rayalaseema region of AP in India through Data Envelopment Analysis (DEA) approach. The analytical findings revealed that 40% of selected DMUs are being operated at Scale Efficiency <1. The remaining 60% DMUs are being operated at CRS and this guides the Government to continue the existing support even in the future.

JEL CODES

Q13, C44, C67.

KEYWORDS

Agricultural Market Committees, Data Envelopment Analysis, Efficiency.

INTRODUCTION

fficient performance of agricultural markets is considered as the *sine qua non* of economic development of any country. This is not an exception with reference to India. It is a known fact that, regulated agricultural markets have been established in India with the prime objective of transacting agricultural produce efficiently and thereby, to safeguard the interests of the farming community. Since 1966 and upto the current year, there have been a study progress in the establishment of regulated agricultural markets in the country. In India, the organized marketing of agricultural commodities has been promoted through a network of regulated markets. Most State Governments and Union Territory(UT) administrations have enacted legislations (Agricultural Produce Marketing (Regulation) Act (APMC Act)) to provide for the regulation of agricultural produce markets. While by the end of 1950, there were 286 regulated markets in the country, their number as on 31st, March 2011 stood at 7566 consists of 2433 principal markets and 5133 sub-yards. Some wholesale markets are outside the purview of the regulation under APMC Acts. Similar trends were noticed in the state of Andhra Pradesh in general and Rayalaseema region of Andhra Pradesh in particular. In Andhra Pradesh, with 23 districts, there are 905 regulated markets which consists of 329 principal markets and 576 sub-yards and in Rayalaseema region comprising of 4 districts, these figures are 56 and 156 reported as on 31st, March 2011.

So far, so forth, these regulated markets in Rayalaseema region of Andhra Pradesh are serving the farming community in view of the laid out promises at the time of their establishment. The contributions of these regulated markets are clearly manifested through various outcomes in the forms of viz, regulating the marketing practices, systematizing the marketing costs, settlement of disputes between farmers and traders, prompt payment of sales proceeds, checking the malpractices of marketing middlemen etc., with a view to safeguard the interests of the farmers in transacting their produce and thereby, to realize significant producer's share in consumer's rupee. To keep up these promises, the Government from time to time revised the marketing regulations and presently Model Act, 2005 (The State Agricultural Produce Marketing (Development and Regulation) Act, 2005) has been enacted to make the farmers dynamic and more competitive in the context of liberalized trade regime. However, coming to the practicality, there exists a wide gap between the promises made and actual performance shown by these regulated markets. The earlier mentioned regulatory provisions offered by these regulated markets are being exploited in one form or other against the interests of the farming community. Thus, it became evident that, these regulated markets in the Rayalaseema region of Andhra Pradesh in India are not efficient enough in discharging the regulatory provisions and hence, the farmers could not enjoy the true benefits of market regulation. It is in this context, the researchers made an attempt to analyse the technical efficiency in the functioning of regulated markets in Rayalaseema region of Andhra Pradesh in India. No studies have been conducted earlier in India in general and in Rayalaseema region of Andhra Pradesh in particular with reference to analyzing the efficiency of the functioning of regulated markets by using Data envelopment Analysis(DEA) and in this context, this research study is certainly a contributing one. Thi

- 1) To study whether the regulatory provisions contribute to the technical efficiency of the functioning of regulated markets, and if they contribute, how they influence the efficiency.
- 2) To analyse the trends in the efficiency in the functioning of regulated markets.

METHODOLOGY

For analyzing the efficiency of regulated markets in India, Rayalaseema region of Andhra Pradesh state has been purposively selected, as the investigators hail from this region. (DEA) model was used to assess the technical efficiency of regulated markets in Rayalaseema region of Andhra Pradesh in India. DEA is one of the most popular approaches used in the literature to appraise the performance of Decision Making Units (DMUs). It permits the selection of efficient markets with in the region. DEA was used in prior studies on the efficiency of financial institutions to examine the impact of some specific changes such as financial reforms, the impact of financial practices and the impact of different ownership groups. DEA assesses the efficiency frontier on the basis of all input and output information from the region. (Rogers, 1998). Thus, the relative efficiency of markets operating in the same region can be estimated (Fried et al. 2002). Hence, identification of performance indicators in regulated markets is useful for identifying a benchmark for the whole region. Moreover, the DEA methodology has the capacity to analyse multi-inputs and multi-outputs to assess the efficiency of institutions (Coelli, Rao & Battese 1998).

Several DEA models have been presented in the literature. The basic DEA model evaluates efficiency based on the productivity ratio which is the ratio of outputs to inputs. This study applied Charnes, Cooper and Rhode's (CCR) (1978) model and Banker, Charnes and Cooper (BCC) (1984) model. The production frontier has constant returns to scale in CCR model. The basic CCR model formulation (dual problem/ envelopment form) is given by :

THE BASIC CCR MODEL FORMULATION (DUAL PROBLEM/ ENVELOPMENT FORM)

$$\mathsf{Min}\theta - \varepsilon \left(\sum_{i=1}^m s_i^- + \sum_{r=1}^s s_r^+\right)$$

$$\sum_{i=1}^{n} \lambda_j x_{ij} + s_i^- = \theta x_{i0}$$

$$\sum_{j=1}^{n} \lambda_{j} y_{rj} - s_{r}^{+} = y_{r0}$$

$$\lambda_i \ge 0$$

Source : Zhu (2003, p.13)

where, θ denotes the efficiency of DMUj, while y_{ij} is the amount of r^{th} output produced by DMUj using x_{ij} amount of r^{th} input. Both y_{rj} and x_{ij} are exogenous variables and λ_i represents the benchmarks for a specific DMU under evaluation (Zhu 2003). Slack variables are represented by s_i and s_i . According to Cooper, Seiford and Tone (2004) the constraints of this model are:

- i. the combination of the input of firm j is less than or equal to the linear combination of inputs for the firm on the frontier;
- ii. the output of firm j is less than or equal to the linear combination of inputs for the firm on the frontier; and
- iii. the main decision variable θ_i lies between one and zer0.

Further, the model assumes that all firms are operating at an optimal scale. However, imperfect competition and constraints to finance may cause some firms to operate at some level different to the optimal scale (Coelli, Rao & Battese 1998). Hence, the Banker, Charnes and Cooper (1984) BCC model is developed with a production frontier that has variable returns to scale. The BCC model forms a convex combination of DMUs (Coelli, Rao & Battese 1998). Then the constant returns to scale linear programming problem can be modified to one with variable returns to scale by adding the convexity constraint $\Sigma \lambda_i = 1$. The model given below illustrates the basic BCC formulation (dual problem/envelopment form):

THE BASIC BCC MODEL FORMULATION (DUAL PROBLEM/ENVELOPMENT FORM)

$$\mathsf{Min}\theta - \varepsilon \left(\sum_{i=1}^m s_i^- + \sum_{r=1}^s s_r^+\right)$$

$$\sum_{i=1}^{n} \lambda_j x_{ij} + s_i^- = \theta x_{i0}$$

$$\sum_{j=1}^{n} \lambda_j y_{rj} - s_r^+ = y_{r0}$$
$$\lambda_j \ge 0$$

$$\lambda > 0$$

$$\sum_{j=1}^{n} \lambda_{j} = 1$$

Source : Zhu (2003, p.13)

This approach forms a convex hull of intersecting planes (Coelli, Rao & Battese 1998). These planes envelop the data points more tightly than the constant returns to scale (CRS) conical hull. As a result, the variable returns to scale (VRS) approach provides technical efficiency (TE) scores that are greater than or equal to scores obtained from the CRS approach (Coelli, Rao & Battese 1998). Moreover, VRS specifications will permit the calculation of TE decomposed into two components: scale efficiency (SE) and pure technical efficiency (PTE). Hence, this study first uses the CCR model to assess TE then applies the BCC model to identify PTE and SE in each DMU. The relationship of these concepts is given below:

RELATIONSHIP BETWEEN TE, PTE AND SE

TECRS = PTEVRS*SE

where TE_{CRS} = Technical efficiency of constant return to scale

PTE_{VRS} = Technical efficiency of variable return to scale

SE = Scale efficiency

Source: Coelli, et al., (1998).

The above relationship, which is unique, depicts the sources of inefficiency, i.e., whether it is caused by inefficient operation (PTE) or by disadvantageous conditions displayed by the scale efficiency (SE) or by both. If the scale efficiency is less than 1, the DMU will be operating either at decreasing return to scale (DRS) if a proportional increase of all input levels produces a less-than-proportional increase in output levels or increasing return to scale (IRS) at the converse case. This implies that resources may be transferred from DMUs operating at DRS to those operating at IRS to increase average productivity at both sets of DMUs (Boussofiane et al.,1992).

DATA AND VARIABLES FOR THE STUDY

Efficiency of a AMC depends on the facilities available with the AMC such as drying platforms, storage units, market functionaries etc., which leads to good amount of arrivals and in turn AMC earns countable market fees creating employment. DEA assumes that, the inputs and outputs have been correctly identified . Usually as the number of inputs and outputs increase, more DMUs tend to get an efficiency rating of 1 as they become too specialized to be evaluated with respect to other units. On the other hand, if there are too few inputs and outputs, more DMUs tend to be comparable. In any study, it is important to focus on correctly specifying inputs and outputs. DEA is commonly used to evaluate the efficiency of a number of AMCs and it is a multi-factor productivity analysis model for measuring the relative efficiency of a homogeneous set of regulated markets (DMUs). For every inefficient AMC, DEA identifies a set of corresponding efficient AMC that can be utilized as benchmarks for improvement of performance and productivity. DEA is developed based on two scale of assumptions viz., Constant Return to Scale (CRS) model and Variable Return to Scale (VRS) model. CRS means that the producers are able to linearly scale the inputs and outputs without increasing or decreasing efficiency. This is a significant assumption. The assumption of CRS may be valid over limited ranges but its use must be justified. As an aside, CRS tends to lower the efficiency scores while VRS tends to raise efficiency scores.

For enabling the study of evaluation of AMC's we have observed the resources or inputs and productivity indicators or outputs as follows:

 $\textbf{Inputs}: X_1 \text{ - Arrivals(in Qtls)}, \quad X_2 \text{ - Amenities \& facilities(in MTs.)}$

X₃ - Market functionaries(in Nos.), (X₄) - Notified market area(in Kms)

Outputs: Y₁ - Valuation(Rs. in Lakhs), Y₂ - Market fees(Rs. in Lakhs)

Y₃ - Staff position(in Nos.)

The study involves the application DEA to assess the efficiency of 56 AMCs in Rayalaseema region of Andhra Pradesh State in India during the years 2005-06, 2006-07, 2007-08 and 2008-09. The data used for assessment was obtained from the Annual Reports published by Directorate of Marketing and Inspection<www.agmarknet.nic.in> and From the Annul Administrative Reports of the selected AMCs. DEA model is executed separately for each year using input-orientation with radial distances to the efficient frontier. By running these programmes with the same data under CRS and VRS assumptions, measures of overall technical efficiency (TE) and 'pure' technical efficiency(PTE) are obtained.

RESULTS AND DISCUSSION

The main theme of the present study is to assess the performance of AMCs in four districts viz., Anantapur, Chittor. Kadapa and Kurnool which are located in Rayalaseema region of Andhra Pradesh state in India. The study intends to assess the efficiency of better facilities and thereby improving infrastructure of AMCs to provide suitable marketing avenues for farming community.

Performance of DMUs at Regional level: The findings of DEA portrayed through Table 1 revealed that, nearly 20 percent of the selected DMUs have shown a shift in the return to scale pattern i.e from IRS to CRS implying that, there is increased resource use efficiency ie., with reference to the exploitation of resources usage. Hence, these DMUs have shown an increased pace of RTS in the recent year 2008-09 compared to the earlier periods. Some DMUs (18%) are being operated at CRS throughout the reference period implying stabilized significant performance. About 34 percent of the total selected DMUs are exhibiting IRS throughout the selected reference period that is 2005-06 to 2008-09. This implies that, these DMUs further require many resources to achieve CRS. However it is disheartening to say that, the selected DMUs like Badvel, Dharmavaram, Kadiri, Madanapalli and Nandikotkur are showing dismal performance regarding the operational efficiency of the resources, as the RTS had shown a shift from IRS to DRS.

Performance of DMUs at District level: District-wise and year-wise Mean Technical Efficiencies have been worked out (Tables 2 and 3). Among selected districts, Kurnool had exhibited highest scale efficiency for the selected reference period followed by Kadapa, Chittoor and Anantapur Districts. This implies that, the selected AMCs in Kurnool District are being operated with a higher resource use efficiency compared to other districts. A close perusal of Table 3 reveals the same picture i.e., Kurnool district dominates other districts regarding operational efficiencies of selected AMCs. That is, in all the selected reference periods, Kurnool district occupy the predominant position with reference to the resource use efficiency of the selected AMCs compared to AMCs of other districts.

The above discussion was briefed through Table 4. The findings revealed that, in Rayalaseema region of Andhra Pradesh, the number of inefficient AMCs is higher compared to efficient AMCs considering the scale efficiency of resources. However, it is heartening to say that, the number of efficient AMCs have been increasing since 2005-06 to 2008-09. The informal discussions held with AMC Officials revealed the following interesting points for this heartening performance:

- Farmers are showing positive attitude for transacting their produce in the AMCs compared to local markets on account of the competitive price being
- Strengthening of infrastructure in the market yards like grading, processing, marketing information network, storage facilities etc.
- More encouragement by the Government in the form of implementing pledge loan scheme, Rythu Bandhu Padhakam etc.
- Regulation of marketing practices and marketing costs.

CONCLUSIONS

The analytical findings revealed that, nearly 40 percent of the selected DMUs are being operated with scale efficiency less than one. To be more precise, 34 percent of DMUs are exhibiting IRS and remaining six percent DMUs are exhibiting DRS. From this, it can be concluded that, the resources that are being utilized at DMUs exhibiting DRS must be diverted towards DMUs exhibiting IRS. This transfer of resources makes the inefficient DMUs to achieve scale efficiency equal to one i.e. to realize CRS. The remaining 60 percent of DMUs are being operated at CRS and this guides the Government to continue the existing support even in the future.

REFERENCES

- Banker, R.D., Charnes, A. & Cooper, W.W. (1984). Some models for estimating technical and scale inefficiencies in data envelopment analysis. Management Science, 30, 1078-1092.
- Boussofiane, A., Dyson, R.G. & Thanassoulis, E. (1992). Applied data envelopment analysis., European Journal of Operations Research, 52, 1-15.
- 3. Charnes, A., Cooper, W.W., & Rhodes, E. (1978). Measuring the efficiency of decision making units., European Journal of Operations Research, 2, 429-444.
- Coelli, T., Rao, D. & Battese, G. (1998). An introduction to efficiency and productivity analysis., Kluwer Academic Publisher group, London.
- Cooper, W.W., Seiford, L.M. & Tone, K. (2004). Data Envelopment Analysis, a comprehensive text with models. Kluwer Academic Publisher group, London.
- Fried, H., Lovell, C., Schmidt, S. & Yaisawarng, S. (2002). Accounting for environmental effects and statistical noise in data envelopment analysis. Journal of Productivity Analysis, 17, 157-174.
- 7. Rogers, M. (1998). The definition and measurement of productivity. The university of Melbourne, Australia; Melbourne institute of applied economics and social research.
- Zhu, J. (2003). Quantitative models for performance evaluation and benchmarking, Kluwer Academic, Publishers group, London.

TABLES

TABLE 1: CRS, VRS, SCALE EFFICIENCY AND RTS OF SELECTED DMUs

Name of the AMC	2005-06			ADLL I.	2006-07	, 00, 122 21	TTOILITOI	71110	2007-08	LLCILD D			2008-09			
Name of the Aivic	CRS	VRS	SCALE	RTS	CRS	VRS	SCALE	RTS	CRS	VRS	SCALE	RTS	CRS	VRS	SCALE	RTS
ADONI	0.8919	0.8958	0.9956		0.7703	0.8174	0.9424		1	1.0000	1.0000		1.0000	1.0000	1.0000	1
ADONI				irs				irs	1.0000	1	1	crs		1		crs
ALLAGADDA	0.6702	0.8372	0.8005	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
ALUR	0.7494	0.9394	0.7977	irs	0.4812	0.8795	0.5471	irs	0.7911	0.891	0.8879	irs	0.7854	0.891	0.8815	irs
ANANTAPUR	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
ATMAKUR	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
BADVEL	0.7854	0.7965	0.9861	irs	0.6232	0.6423	0.9703	irs	0.7013	0.7327	0.9571	DRS	0.7853	1.0000	0.7853	DRS
BANAGANAPALLI	1.0000	1.0000	1.0000	crs	0.944	1.0000	0.9440	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
BANGARUPALEM	0.6389	0.9689	0.6594	irs	0.6228	0.9878	0.6305	irs	0.587	0.9351	0.6277	irs	0.7807	0.9985	0.7819	irs
CHITTOOR	0.3950	0.6181	0.6391	irs	0.4064	0.618	0.6576	irs	0.5423	0.6178	0.8778	irs	0.7263	0.7481	0.9709	irs
DHARMAVARAM	0.3916	0.5339	0.7335	irs	0.377	0.6089	0.6191	irs	0.5238	0.574	0.9125	irs	0.6505	0.6561	0.9915	DRS
DHONE	0.9621	0.9765	0.9853	irs	0.9234	0.9715	0.9505	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
GOOTY	0.6045	1.0000	0.6045	irs	0.418	1.0000	0.4180	irs	0.8103	1.0000	0.8103	irs	0.8438	1.0000	0.8438	irs
GUNTAKAL	0.3011	0.7724	0.3898	irs	0.5286	0.7641	0.6918	irs	0.4344	0.7623	0.5699	irs	0.422	0.7326	0.5760	irs
HINDUPUR	0.3743	0.6625	0.5650	irs	0.5137	0.7117	0.7218	irs	0.3929	0.6543	0.6005	irs	0.6829	0.7869	0.8678	irs
JAMMALAMADUGU	0.4502	0.7981	0.5641	irs	0.5599	0.8675	0.6454	irs	0.7324	0.8541	0.8575	irs	1.0000	1.0000	1.0000	crs
KADAPA	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	0.7848	0.8139	0.9642	irs	1.0000	1.0000	1.0000	crs
KADIRI	0.6303	0.6363	0.9906	irs	0.2278	0.3946	0.5773	irs	0.4783	0.4877	0.9807	irs	0.577	0.585	0.9863	DRS
KALYANADURGAM	1.0000	1.0000	1.0000	irs	0.5808	0.9377	0.6194	irs	1.0000	1.0000	1.0000	crs	0.9342	0.9952	0.9387	irs
KAMALAPURAM	0.5962	1.0000	0.5962	irs	0.7347	1.0000	0.7347	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
KODURU	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
KOILAKUNTLA	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
KUPPAM	0.1554	0.7108	0.2186	irs	0.2117	0.7411	0.2857	irs	0.3168	0.7003	0.4524	irs	0.419	0.7451	0.5623	irs
KURNOOL	1.0000	1.0000	1.0000		1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000		1.0000	1.0000	1.0000	_
LAKKIREDDIPALLI				crs								crs				crs
	1.0000	1.0000	1.0000	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	0.8064	1.0000	0.8064	irs
MADAKASIRA	0.3458	1.0000	0.3458	irs	0.3029	1.0000	0.3029	irs	0.6713	1.0000	0.6713	irs	0.9361	1.0000	0.9361	irs
MADANAPALLI	0.3037	0.3276	0.9270	irs	0.512	0.5215	0.9818	irs	0.7367	1.0000	0.7367	DRS	0.4859	0.4868	0.9982	DRS
MULAKALACHERUVU	0.3486	0.7586	0.4595	irs	0.3614	0.7905	0.4572	irs	0.4177	0.7586	0.5506	irs	0.438	0.7586	0.5774	irs
MYDUKURU	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
NAGIRI	1.0000	1.0000	1.0000	crs	0.6848	1.0000	0.6848	irs	1.0000	1.0000	1.0000	crs	0.9343	1.0000	0.9343	irs
NANDIKOTKUR	0.5541	0.6965	0.7955	irs	0.8768	0.9409	0.9319	irs	1.0000	1.0000	1.0000	crs	0.9984	1.0000	0.9984	DRS
NANDYAL	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
PAKALA	0.7701	0.9427	0.8169	irs	0.7707	0.9628	0.8005	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
PALAMANERU	0.3857	0.8868	0.4349	irs	0.3844	0.8933	0.4303	irs	0.4463	0.8736	0.5109	irs	0.4096	0.8657	0.4731	irs
PATTIKONDA	0.8925	1.0000	0.8925	irs	0.9239	1.0000	0.9239	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
PENUKONDA	0.2567	0.5934	0.4326	irs	0.3864	0.6063	0.6373	irs	0.6936	0.7405	0.9367	irs	0.6129	0.6765	0.9060	irs
PILERU	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	0.881	1.0000	0.8810	irs	1.0000	1.0000	1.0000	crs
PRODDUTUR	0.4894	0.5662	0.8644	irs	0.5399	0.6024	0.8962	irs	0.523	0.5428	0.9635	irs	0.7269	0.731	0.9944	irs
PULIVENDULA	0.5304	0.6300	0.8419	irs	0.6253	0.7556	0.8276	irs	0.5777	0.6465	0.8936	irs	1.0000	1.0000	1.0000	crs
PUNGANURU	0.7953	1.0000	0.7953	irs	0.9678	1.0000	0.9678	irs	1.0000	1.0000	1.0000	crs	0.7337	0.7621	0.9627	irs
PUTTUR	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
RAJAMPET	0.6714	0.7382	0.9095	irs	0.5301	0.7228	0.7334	irs	0.4881	0.7064	0.6910	irs	0.8144	0.9101	0.8948	irs
RAYACHOTY	0.6892	0.8107	0.8501	irs	0.7575	0.8272	0.9157	irs	0.9173	0.9282	0.9883	DRS	1.0000	1.0000	1.0000	crs
RAYADURGAM	0.5379	0.6361	0.8456	irs	0.3513	0.6007	0.5848	irs	0.5402	0.6697	0.8066	irs	0.7674	0.7868	0.9753	irs
ROMPICHERLA	0.4790	1.0000	0.4790	irs	0.4559	0.9767	0.4668	irs	0.7957	1.0000	0.7957	irs	0.8045	1.0000	0.8045	irs
SATYAVEDU	0.4790	0.9419	0.4790	DRS	0.4339	0.9086	0.4008	DRS	0.7937	1.0000	0.7937	DRS	1.0000	1.0000	1.0000	crs
SIDDAVATAM	0.5756	1.0000	0.5756	irs	0.6565	1.0000	0.6565	irs	0.9487	1.0000	0.9487	irs	1.0000	1.0000	1.0000	_
																crs
SOMALA	0.6423	0.9774	0.6572	irs	0.6105	0.9656	0.6322	irs	0.9324	1.0000	0.9324	irs	0.9929	1.0000	0.9929	irs
SRIKALAHASTI	0.8570	0.9163	0.9353	irs	1.0000	1.0000	1.0000	crs	0.8821	0.9427	0.9357	irs	1.0000	1.0000	1.0000	crs
TADIPATRI	0.8280	0.9661	0.8571	irs	0.7211	0.9568	0.7537	irs	0.9507	1.0000	0.9507	irs	0.9021	0.9681	0.9318	irs
TANAKALLU	0.4801	0.9383	0.5117	irs	0.543	0.9222	0.5888	irs	0.7028	1.0000	0.7028	irs	0.961	1.0000	0.9610	irs
TIRUPATHI	1.0000	1.0000	1.0000	crs	0.7045	0.9139	0.7709	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
TOTTAMBED	0.9245	0.9657	0.9573	irs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
URAVAKONDA	0.5463	0.8646	0.6319	irs	0.5103	0.8495	0.6007	irs	0.6203	0.8449	0.7342	irs	0.5778	0.8043	0.7184	irs
VALMIKEPURAM	0.2101	0.3676	0.5715	irs	0.2276	0.3896	0.5842	irs	0.2438	0.3735	0.6527	irs	0.3151	0.3604	0.8743	irs
		4 0000	4 0000		1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs	1.0000	1.0000	1.0000	crs
VEPANGERI	1.0000	1.0000	1.0000	crs	1.0000	1.0000										
VEPANGERI YEMMIGANURU	1.0000 0.7193	0.8295	0.8671	irs	0.8488	0.8827	0.9616	irs	0.9267	0.9544	0.9710	irs	1.0000	1.0000	1.0000	crs
										0.9544 0.8929	0.9710 0.8869	irs	1.0000 0.8540	1.0000 0.9152	1.0000 0.9273	crs

TABLE 2: DISTRICT-WISE AND YEAR-WISE MEAN TECHNICAL EFFICIENCIES

YEAR	Anantap	ur Distric	t	Chittoor	District	Kurnool District				Kadapa District			
	CRS VRS SCALE		CRS	VRS	SCALE	CRS	VRS	SCALE	CRS	VRS	SCALE		
2005-06	0.5613	0.8157	0.6852	0.6760	0.8622	0.7657	0.8700	0.9312	0.9279	0.7323	0.8616	0.8490	
2006-07	0.4970	0.7963	0.6243	0.6748	0.8773	0.7549	0.8974	0.9577	0.9334	0.7523	0.8682	0.8650	
2007-08	0.6784	0.8256	0.8212	0.7753	0.9053	0.8370	0.9765	0.9871	0.9882	0.8031	0.8521	0.9357	
2008-09	0.7591	0.8455	0.8948	0.7916	0.8803	0.8912	0.9820	0.9909	0.9900	0.9278	0.9701	0.9567	

TABLE 3: YEAR-WISE MEAN TECHNICAL EFFICIENCIES OF SELECTED DMUS IN SELECTED DISTRICTS

Year	Mean Te	chnical Ef	ficiency(C	RS)	Mean Te	chnical Ef	ficiency(V	RS)	Mean Technical Efficiency(Scale)				
	ATP	CHTR	KNL	KDP	ATP	CHTR	KNL	KDP	ATP	CHTR	KNL	KDP	
2005-06	0.5613	0.6760	0.8700	0.7323	0.8157	0.8622	0.9312	0.8616	0.6852	0.7657	0.9279	0.8490	
2006-07	0.4970	0.6748	0.8974	0.7523	0.7963	0.8773	0.9577	0.8682	0.6243	0.7549	0.9334	0.8650	
2007-08	0.6784	0.7753	0.9765	0.8031	0.8256	0.9053	0.9871	0.8521	0.8212	0.8370	0.9882	0.9357	
2008-09	0.7591	0.7916	0.9820	0.9278	0.8455	0.8803	0.9909	0.9701	0.8948	0.8912	0.9900	0.9567	

Note: ATP – Anantapur; CHTR – Chittoor; KNL – Kurnool; KDP – Kadapa.

TABLE 4: DESCRIPTIVE STATISTICS OF SELECTED DMUs												
Description	2005-06			2006-07			2007-08			2008-09		
	CRS	VRS	SCALE									
No. of AMCs evaluated	56	56	56	56	56	56	56	56	56	56	56	56
No. of efficient AMCs	16	23	16	15	23	15	23	33	23	27	36	27
No. of Inefficient AMCs	40	33	40	41	33	41	33	23	33	29	20	29
Mean Score	0.7030	0.8661	0.7996	0.6978	0.8738	0.7864	0.8019	0.8929	0.8869	0.8540	0.9152	0.9273
Standard Deviation	0.2628	0.1745	0.2172	0.2565	0.1673	0.2103	0.2265	0.1627	0.1530	0.1990	0.1489	0.1274
Maximum Score	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000
Minimum Score	0.1554	0.3276	0.2186	0.2117	0.3896	0.2857	0.2438	0.3735	0.4524	0.3151	0.3604	0.4731



REQUEST FOR FEEDBACK

Dear Readers

At the very outset, International Journal of Research in Commerce, IT and Management (IJRCM) acknowledges & appreciates your efforts in showing interest in our present issue under your kind perusal.

I would like to request you to supply your critical comments and suggestions about the material published in this issue as well as on the journal as a whole, on our E-mail i.e. infoijrcm@gmail.com for further improvements in the interest of research.

If you have any queries please feel free to contact us on our E-mail infoijrcm@gmail.com.

I am sure that your feedback and deliberations would make future issues better - a result of our joint effort.

Looking forward an appropriate consideration.

With sincere regards

Thanking you profoundly

Academically yours

Sd/-

Co-ordinator

ABOUT THE JOURNAL

In this age of Commerce, Economics, Computer, I.T. & Management and cut throat competition, a group of intellectuals felt the need to have some platform, where young and budding managers and academicians could express their views and discuss the problems among their peers. This journal was conceived with this noble intention in view. This journal has been introduced to give an opportunity for expressing refined and innovative ideas in this field. It is our humble endeavour to provide a springboard to the upcoming specialists and give a chance to know about the latest in the sphere of research and knowledge. We have taken a small step and we hope that with the active cooperation of like-minded scholars, we shall be able to serve the society with our humble efforts.

Our Other Fournals





